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2 Corrections to 7.1.7.3
2.1 Testcase 7.1.7.3
	Object name 
	lt_LocalTest, line #21

	Reason for change
	In the current TTCN implementation at line #21, the HLBS expected from the UE is set to value ‘1000’B (Value 9 as per 25.321 Sec 9.2.5.3.2 Table 9.2.5.3.2-2 ). This value is calculated as follows: 

TEBS calculation:
RLC PDUs = (8h+160d) + (8h+480d) + (8h+240d) + (8h+320d) = 1232 bits = 154 bytes which means value 11, since 129 <154 <= 171.

tsc_UL_DTCH1 is the highest priority channel.

HLBS calculation: 154 / 171 = 90% (value=15)
In the TTCN, the value ‘1111’B is used consequently.

However, the TEBS should be calculated as follows:

RLC PDUs = 160+480+240+320=1200 bits = 150 bytes, which means value 11, since 129<150<=171.

HLBS cauculation:  150/171 = 87.7% = 87% or 88% (Some UEs might ceil 87.7 to 88, or some Ues migh floor 87.7 to 87). In either case, the value is 15.

	Summary of change
	The comment section needs updation.

	Source of change
	Editorial

	Label
	


Before change: 
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After change: 
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2.2 Testcase 7.1.7.3

	Object name 
	lt_LocalTest, line #29, #37

	Reason for change
	In the current TTCN implementation at line #29, the HLBS expected from the UE is set to value ‘1000’B (Value 9 as per 25.321 Sec 9.2.5.3.2 Table 9.2.5.3.2-2 ). This value is calculated as follows: 
TEBS calculation:
RLC PDUs = (8h+320d) + (8h+240d) + (8h+320d) + (8h+160d) + (8h+120d) + (8h+400d) = 1608 bits = 201 bytes whic means value 12, since 171 < 201 <= 228)
tsc_UL_DTCH1 is the highest priority channel.
HLBS calculation:51 / 228 = 22% (value 8)In the TTCN, the value ‘1000’B is used consequently.

However, the TEBS should be calculated as follows:

RLC PDUs = 320+240+320+160+120+400 = 1560 bits = 195 bytes, which means value 12, since 171<195<=228.

HLBS cauculation:  50/228 = 21.9% = 21% or 22% (Some UEs might ceil 21.9 to 22, or some UEs migh floor 21.9 to 21). In case, the UE implementation ceils the value, then HLBS would be 8. If the UE implementation floors the value the HLBS would be 7.

The current TTCN implementation does not take into account the case when the UE implementation migh ceil the value. This might result in a conformant UE failing the test.

	Summary of change
	In the TTCN, accommodated both the HLBS values (‘1000’B, ‘0111’B) and updated the comments . Please see screenshot.

	Source of change
	Modification

	Label
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After:

[image: image4.png]CMAC ? CMAC_MACis_SI_IND

cta_CMAC_MACIs_SI_IND{

(10008, D1116),

TNT_TO BTt 1

_DTCHI4)

Step @

TEBS calculation.
RLC PDUS = 3200+2400+320
+1600+1200+400c) = 1560 b
ts =195 bytes

(value 12,171 < TEBS <= 228)
tsc_UL_DTCH is the highest
prioritychannel

HLES calculation:

50 (byes from LOH1) 1228 =
21.9% = 22 means value 811
UE ceils 21.0->22

21.9% = 21 means value 7 if
UE floors 21.9-> 21

B REST0TII oG





2.3 Testcase 7.1.7.3

	Object name 
	lt_LocalTest, line #37

	Reason for change
	In the current TTCN implementation at line #37, the HLBS expected from the UE is set to value ‘1111’B (Value 9 as per 25.321 Sec 9.2.5.3.2 Table 9.2.5.3.2-2 ). This value is calculated as follows: 

TEBS calculation:
RLC PDUs =  (8h+320d) + (8h+320d) = 656 bits = 82 bytes which means value 9, since  73 <82 <= 97
tsc_UL_DTCH1 is the highest priority channel.
HLBS calculation:82 / 97 = 84% which means value 8. In the TTCN, the value ‘1000’B is used consequently.

However, the TEBS should be calculated as follows:

RLC PDUs = 320+320 = 640 bits = 80 bytes, which means value 12, since 72<80<=97.

HLBS cauculation:  80/97 = 82.4% = 82% or 83% (Some UEs might ceil 82.4 to 83, or some UEs migh floor 82.4 to 82). In case, the UE implementation ceils the value, then HLBS would be 15. If the UE implementation floors the value the HLBS would be 14.

The current TTCN implementation does not take into account the case when the UE implementation might floor the value. This might result in a conformant UE failing the test.

	Summary of change
	In the TTCN, accommodated both the HLBS values (‘1000’B, ‘0111’B) and updated the comments . Please see screenshot.

	Source of change
	Modification

	Label
	


Before:
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After:
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